
(1)AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2011
Class : VI

Time/a]Ì̂  : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (25+25+25+25)=100

General Knowledge / açWýç»S pûçX / açWýçÌ[ýS pûçX
1. The black box in an aeroplane is usually coloured

açWýç»SãTö =»çLçc÷çL» "æ[ýÀEõ [ýj'» »e
=äQÍöçLçc÷çãLÌ[ý æ[ýÀEõ [ýãjÌ[ý Ì[ýe-

a) Black b) Orange c) Green d) Red
Eõ_ç Eõ]_ç åa=LÝÌ̂ ç »Iøç
Eõç_ç Eõ]_ç a[ýÇL _ç_

2. Which of these sports is also the name of an insect in English
Tö_» åEõçXäOôç åF_  +e»çLÝTö A×[ýWý YTöeGã»ç Xç]
XÝä»JôÌ[ý åEõçX åF_ç +eÌ[ýçLÝãTö  AEõ×Oô YTöã†Ì[ýC Xç] -

a) Polo b) Cricket c) Hockey d) Tennis
Y_' ×yÔãEõOô c÷EõÝ æOô×X$K÷
åYçã_ç ×yÔãEõOô c÷×Eõ æOô×Xa

3. Bones and teeth are mostly composed of -
c÷çQÍö %ç»Ó VñçTö ]É_Töf ×Eõc÷» ¥ç»ç G×PöTö ?
cg÷çQÍö A[ýe VñçTö ]É_Tö ×EõãaÌ[ý ¥çÌ[ýç G×PöTö ?

a) Protein b) Calcium c) Vitamin d) Potassium
YÒ×OôX åEõ_×$JôÌ^ç] ×\öOôç×]X YOôç×$K÷Ì̂ ç]
æYÒç×OôX åEõ_×aÌ̂ ç] ×\öOôç×]X YOôç×aÌ̂ ç]

4. The city located on the two continents of Europe and Asia is :-
åEõçXFX XG» +=ã»çY %ç»Ó A×$JôÌ̂ ç VÇ+ ]c÷çãV`ãTö %¾×ØšöTö ?
XÝä»JôÌ[ý åEõçX XGÌ[ý +=ãÌ[ýçY A[ýe A×`Ì̂ ç A+ VÇ×Oô ]c÷çãVã`+ %[ý×ØšöTö ?

a) Riyadh b) Moscow c) Istanbul d) Cairo
×»Ì^çWý ]ã•õç +rôçX[ýÇ_ Eõç+ã»ç
×Ì[ýÌ^çWý ]ã•õç +Ø™öçX[ýÇ_ EõçÌ̂ ãÌ[ýç

5. Arrange the following in ascending order
Tö_Tö =ä{F EõÌ[ýçã[ýçÌ[ý =¥Û yÔ]Tö aãLç¾ç -
XÝä»JôÌ[ý ̀ Œm×_ãEõ =ˆùÛyÔã] açLçC f-
i) Bihu Kuwari ii) Bihu Samragyee iii) Bihu Rani

×[ý§ EgÇõ¾»Ý ×[ý§ a¶ƒöçGÝ ×[ý§ »çSÝ
×[ý§ EgÇõÌ̂ Ì[ýÝ ×[ý§ a¶ƒöçpûÝ ×[ý§Ì[ýçXÝ

a) ii / iii / i b) i / ii / iii c) ii / i / iii d) i / iii / ii
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6. The Picture alongside is the logo of -
EõçbTö UEõç YÒTöÝEõ ×$Jôc÷ÔäOôç ×Eõc÷» _GTö L×QÍöTö ?
Yçã` UçEõç YÒTöÝEõ ×»Jôc÷Ô ×EõãaÌ[ý açãU L×QÍöTö ?

a) Chain food restaurant b) Garments Company c) Car Manufacturing d) Shoes Maker
æ$Jô+X ZÇõQö å»rÇôã»³Oô åYçJôçEõ YÒºwøTö åEõç¶YçXÝ GçQÍöÝ =dYçVX åEõç¶YçXÝ åLçTöç =dYçVEõ
æ»Jô+X ZÇõQö åÌ[ýrÇôãÌ[ý³Oô åYç`çEõ YÒºwøTö åEõç¶YçXÝ GçQÍöÝ =dYçVX åEõç¶YçXÝ LÇTöç =dYçVEõ

7. To stay healthy the heaviest meal should be
aÇ-Ø‘öçØšöî» [ýçã[ý åEõçXäOôç m»Ó %çc÷ç» åc÷ç¾ç =×$JôTö ?
aÇØ‘öçãØšöÌ[ý LXî åEõçX×Oô mÌ[ýÓ %çc÷çÌ[ý c÷CÌ̂ ç =×»JôTö ?

a) Breakfast b) Lunch c) Tiffin d) Dinner
»ç×Tö YÇ¾ç» %çc÷ç» VÇY»ÝÌ̂ ç» %çc÷ç» ×Oô×ZõX »ç×Tö» %çc÷ç»
YÒçTöfÌ[ýç` ]Wýîçc÷Ô %çc÷çÌ[ý ×Oô×ZõX ÌÌ[ýçäyÌ[ý %çc÷çÌ[ý

8. 'Rashtriya Janata Dal' is a political party based in
"»çrÑôÝÌ̂  LXTöç V_' Xç]» »çLêX×TöEõ V_ ]É_Töf åEõçXäOôç YÒãV`» ?
"Ì[ýçrÑôÝÌ̂  LXTöç V_' Xçã]Ì[ý Ì[ýçLêX×TöEõ V_ ]É_Töf åEõçX YÒãVã`Ì[ý ?

a) Andhra Pradesh b) Bihar c) Maharashtra d) Assam
%µÐù YÒãV` ×[ýc÷ç» ]c÷ç»çrÑô %a]
%µÐù YÒãV` ×[ýc÷çÌ[ý ]c÷çÌ[ýçrÑô %çaç]

9. 'Empty Hand' is the meaning of which game ?
åEõçXäOôç åF_» %Uï  A¶Y×Oô  åc÷‰ø (Fç×_ c÷çTö) ?
åEõçX ãF_çÌ[ý %Uï "Fç×_ c÷çTö' ?

a) Judo b) Kabaddi c) Karate d) Kho-Kho
LÇãQöç Eõç[ýçQöÝ Eõç»çäOô / EõçÌ[ýçäOô åFç-ãFç

10. Carnatic Music is the music of -
EõSïçOôEõ a†ÝTö ........................ » aeGÝTö
EõXïçOôEõ a†ÝTö ............ a†ÝTö

a) North India b) South India c) East India d) West India
=wø» \öç»Tö» V×lùS \öç»Tö» YÉ[ýï \öç»Tö» Y×¸Jô] \öç»Tö»
=wøÌ[ý \öçÌ[ýãTöÌ[ý V×lùS \öçÌ[ýãTöÌ[ý YÉ[ýï \öçÌ[ýãTöÌ[ý Y×¸Jô] \öçÌ[ýãTöÌ[ý

11. Which of the following is an amphibian ?
Tö_» åEõçXäOôç YÒçSÝ =\ö$Jô» ?
XÝä»JôÌ[ý åEõçX YÒçSÝ =\öJôÌ[ý ?

a) Whale b) Turtle c) Frog d) Octopus
×Tö×] ]çK÷÷ Eõç$K÷ å\öEÇõ_Ý %ãkôçYç$K÷
×Tö×] ]ç»K÷ Eõ¬K÷Y [ýîçI %ãkôçYça
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12. The word 'wall street' is associated with

""¾ç_×rÑôOô'' ̀ ŒäOôç ×Eõc÷» _GTö L×QÍöTö ?
"CÌ̂ ç_ rÑôÝOô' ̀ Œ×Oô ×EõãaÌ[ý açãU L×QÍöTö ?

a) Trading of gold b) Trading of crops c) Trading of tea d) Trading of stocks & shares
åaçS» [ýî¾açÌ̂ `aî» [ýî¾açÌ̂ $Jôçc÷» [ýî¾açÌ̂ rôEõ %ç»Ó å`ŸÌ̂ ç» [ýî¾açÌ̂
åaçXçÌ[ý [ýî[ýaç `ãaîÌ[ý [ýî[ýaç »JôçãÌ̂ Ì[ý [ýî[ýaç rôEõ A[ýe å`ŸÌ̂ çÌ[ý [ýî[ýaç

13. Ram is taller than Babul but shorter than Dilip. Karim is taller than Ram and Dilip. Who is the tallest among all ?
»ç] [ýç[ýÇ_TöêEõ CF ×Eõ³wø ×V_ÝYTöêEõ $JôçY»* Eõ×»], »ç] %ç»Ó VÝ×_YTöêEõ CF* åTöCgã_çEõ» ]çLTö %çOôç+TöêEõ CF åEõçX ?
Ì[ýç] [ýç[ýÇ_ åUãEõ _¶‘öç ×Eõ³wø ×V_ÝY åUãEõ FçäOôç* Ì[ýç] A[ýe VÝ×_Y åUãEõ Eõ×Ì[ý] _¶‘öç* a[ý»Jôç+ãTö _¶‘öç åEõ ?

a) Karim b) Ram c) Dilip d) Babul
Eõ×»] / Eõ×Ì[ý] »ç] / Ì[ýç] ×V_ÝY [ýç[ýÇ_

14. Which is the largest district of Assam
%a]» %çOôç+TöêEõ QöçIø» ×L_çFX -
%çaçã]Ì[ý a[ý»Jôç+ãTö [ýQÍö åL_çÌ[ý Xç] -

a) Nagaon b) Karbi Anglong c) Sonitpur d) Chirang
XGçCg Eõç×[ýï%çe_e å`ç×STöYÇ» / å`ç×XTöYÇÌ[ý ×$Jô»çe / ×»JôÌ[ýçe

15. Which of the following is not a native of Nagaland ?
Tö_» åEõçXäOôç XGçã_‰ø» ØšöçXÝÌ̂  %×Wý[ýçaÝ Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô XçGçã_ã³QöÌ[ý ØšöçXÝÌ̂  %×Wý[ýçaÝ XÌ^ ?

a) Angami b) Sema c) AO d) Adi
%ç†ç]Ý åK÷]ç/ åa]ç %çC %ç×V

16. Who is the President of Asom Sahitya Sabha ?
%a] aç×c÷Töî a\öç» a\öçY×Tö åEõçX ?
%a] aç×c÷Töî a\öçÌ[ý a\öçY×Tö åEõ ?

a) Padma Nath Gohainbaruah    b)  Rongbong Terang c)   Kanaksen Deka d) Homen Borgohain
Y²¿XçU åGçc÷ç×AÕ [ý»Ó¾ç        »e[ýe åTö»çe        EõXEõãaX åQöEõç åc÷çã]X [ý»ãGçc÷ç×AÕ
Y²¿XçU åGçcg÷ç+ [ýÌ[ýÓÌ̂ ç         Ì[ýe[ýe åTöÌ[ýçe       EõXEõãaX åQöEõç åc÷çã]X [ýÌ[ýåGgçc÷ç+

17. Who was the writer of 'Gitanjali' ?
GÝTöçt_Ý» å_FEõ åEõçX ?
GÝTöçt_ÝÌ[ý å_FEõ --

a) Bankim Chandra b) Rabindra Nath Tegore    c) Sree Sree Sankar Dev d) Amrita Pritam
[ý×‡û] $Jô³VÐ »×[ý³VÐ XçU PöçEÇõ» `ÒÝ Ò̀Ý ̀ eEõ»ãV¾ %]ÊTöç ×YÒTö]
[ý×áø] »Jô³VÐ Ì[ý[ýÝ³VÐ XçU PöçEÇõÌ[ý `ÒÝ Ò̀Ý ̀ eEõÌ[ýãV[ý %]ÊTöç YÒÝTö]
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18. Pure drinking water means -

×[ý£ˆù åFç¾ç YçXÝ ]çãX -
×[ý£ˆù YçXÝÌ̂  L_ ]çãX -
i) Germsless water ii) Colourless water iii) Tasteless water iv) Odourless water

[ýÝLçXÇ]ÇNþ YçXÝ »e×[ýc÷ÝX YçXÝ Ø‘öçV×[ýc÷ÝX YçXÝ åGçµù]ÇNþ YçXÝ
[ýÝLçXÇ]ÇNþ L_ Ì[ýe×[ýc÷ÝX L_ Ø‘öçV×[ýc÷ÝX L_ Gµù]ÇNþ L_

a) I & II b) II & III c) I & IV d) all of the above
I %ç»Ó II II & III I %ç»Ó IV CY»» %çOôç+ãEõ+Oôç
I A[ýe II II & III I A[ýe IV a[ýEõÌ^Oôç

19. The full form of E-mail is
+ å]+_» YÉSï »ÖY
+-ã]+ã_Ì[ý YÉXï Ì[ýÖY -

a) Electric mail b) Electronic mail c) Elaborate mail d) Easy mail
+ã_×kỗEõ å]+_ +ã_k˜ô×XEõ å]+_ +_ç[ýã»Oô å]+_ / +_ç[ýãÌ[ýOô å]+_ +×L å]+_

20. A zebra has combination of two colours on its body. Try to identify the colour
AOôç åL[ýÐç» GçTö VÇOôç »Iø» ae×]`ÒS %çä$K÷* »e VÇOôç ×X×¸JôTö Eõ»ç
AEõ×Oô åL[ýÐçÌ[ý GçãÌ̂  VÇ+×Oô Ì[ýeãÌ̂ Ì[ý ae×]`ÒX %çä»K÷* Ì[ýe VÇ+×Oô c÷+_ -

a) Black with white stripes b) White with black stripes
Eõ_çTö [ýGç %ç$gJô [ýGçTö Eõ_ç %çg$Jô
Eõç_çÌ[ýã† açVç åQöçÌ[ýç açVçÌ[ý ]ãWýî Eõçã_ç åQöçÌ[ýç

c) Black with grey stripes d) White, white with grey stripes
Eõ_ç %ç»Ó [ýGçTö åWýç¾ç[ý»S» %çg$Jô [ýGç, %ç»Ó [ýGçTö åWýç¾ç[ý»S» %çg$Jô
Eõçã_çÌ[ý açãU WýÉaÌ[ý åQöçÌ[ýç açVçãTö WýÉaÌ[ý åQöçÌ[ýç

21. What will be the next number in the given series ?
Tö_Tö ×VÌ̂ ç æ`ÒSÝäOôç» Y»[ýTöÞ aeFîçäOôç ×Eõ ?
XÝä»Jô åVCÌ̂ ç æ`ÒXÝÌ[ý YÌ[ý[ýTöÞ aeFîç ×Eõ ?
4, 7,  11, 16, ..........

a) 25 b) 22 c) 27 d) 28

22. Which of the following is known as 'The nightingale of India' ?
\öç»Tö» Xç+×Oôã†_ EõçEõ åEõç¾ç c÷Ì̂  ?
\öçÌ[ýãTöÌ[ý Xç+×OôeãG_ EõçãEõ [ý_ç c÷Ì̂  ?

a) Asha Bhonsle b) Lata Mangeskar c) Noorjahan d) Parbin Sultana
%ç`ç å\göçaã_ _Töç ]çã†`Eõ» XÇ»Lçc÷çX Yç»×[ýX $KÇ÷_TöçXç
%ç`ç å\göçaã_ _Töç ]ã†`EõÌ[ý XÇÌ[ýLçc÷çX YçÌ[ý×[ýX »aÇ_TöçXç
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23. Who was the first president of the Indian National Congress ?

\öç»TöÝÌ̂  LçTöÝÌ̂  EõeäGÐ$K÷» YÒU] a\öçY×Tö åEõçX %ç×$K÷_ ?
\öçÌ[ýTöÝÌ̂  LçTöÝÌ̂  EõeäGÐãaÌ[ý YÒU] a\öçY×Tö åEõ ×»K÷ã_X ?

a) A.O. Hume b) W.C. Banerjee c) Anni Basanta d) Gandhiji
A.%. ×c÷=] =ã]` $Jô³VÐ å[ýXçLÞ A×X ã[ý$JôçÜ™ö/ A×X ã[ý$açÜ™ö Gç×µùLÝ/ GçµùÝ×L

24. Which of the following group is known as 'Trimurti' in Assamese literature ?
Tö_» åEõçX aEõ_Eõ %a]ÝÌ̂ ç aç×c÷Töî» ×Åy]ÉTöÞ åEõç¾ç c÷Ì̂  ?
%a]ÝÌ̂ ç aç×c÷ãTöîÌ[ý ×Åy]É×TöÛ Eõçc÷çãVÌ[ýãEõ [ý_ç c÷Ì̂  ?
a) Lakshmi Nath Bezbauah, Hemchandra Goswami and Chandra Kr. Agarwala

_©¿ÝXçU å[ýL[ý»Ó¾ç, åc÷]$Jô³VÐ åGçØ‘öç]Ý %ç»Ó $Jô³VÐ EÇõ]ç» %çG»¾ç_ç
_©¿ÝXçU å[ýL[ýÌ[ýÓÌ̂ ç, åc÷]$Jô³VÐ åGçØ‘öç]Ý A[ýe »Jô³VÐ EÇõ]çÌ[ý %çGÌ[ýCÌ̂ ç_ç

b) Lakshmi Nath Bezbauah, Hemchandra Goswami and Ananda Chandra Agarwala
_©¿ÝXçU å[ýL[ý»Ó¾ç, åc÷]$Jô³VÐ åGçØ‘öç]Ý %ç»Ó %çX³V $Jô³VÐ %çG»¾ç_ç
_©¿ÝXçU å[ýL[ýÌ[ýÓÌ̂ ç, åc÷]$Jô³VÐ åGçØ‘öç]Ý A[ýe %çX³V Jô³VÐ %çGÌ[ýCÌ̂ ç_ç

c) Lakshmi Nath Bezbauah, Hemchandra Goswami and Jyoti Prasad Agarwala
_©¿ÝXçU å[ýL[ý»Ó¾ç, åc÷]$Jô³VÐ åGçØ‘öç]Ý %ç»Ó åLîç×Tö YÒaçV %çG»¾ç_ç
_©¿ÝXçU å[ýL[ýÌ[ýÓÌ̂ ç, åc÷]$Jô³VÐ åGçØ‘öç]Ý A[ýe åLîç×Tö YÒaçV %çGÌ[ýCÌ̂ ç_ç

d) None of the above
åEõçãXçäOôçã¾+ Xc÷Ì̂
åEõçX×Oô XÌ^

25. Which of the following computer is most popular ?
Tö_» åEõçX×[ýWý Eõ×¶Y=Oôç» %çOôç+TöêEõ LX×YÒÌ̂  ?
XÝä»JôÌ[ý åEõçX Eõ×¶Y=OôçÌ[ý a[ý»Jôç+ãTö LX×YÒÌ^ ?

a) Super Computer b) Mini Computer c) Micro Computer d) All the above
$JÇôYç» Eõ×¶Y=Oôç» ×]×X Eõ×¶Y=Oôç» ]ç+yÔ' Eõ×¶Y=Oôç» +Ì̂ ç» %çOôç+ãEõ+Oôç
aÇYçÌ[ý Eõ×¶Y=OôçÌ[ý ×]×X Eõ×¶Y=OôçÌ[ý ]ç+yÔ' Eõ×¶Y=OôçÌ[ý a[ýEõÌ^Oôç

General English
26. The following negative sentence has been written in a different way. Find the correct one.

"We can wait here no longer."

a) We can wait here not  longer. b) We can not wait here any longer.
c) We can not wait here no longer. d) We can wait not here no longer.

27. The following sentence has been changed to negative. Only two  sentences are correct. Find them.
"He told me something about it."
i) He did not tell me anything about it. ii) He told me not anything about it.
iii) He didn't tell me something about it. iv) He told me nothing about it.

a) i & iii b) ii & iv c) iii & iv d) i & iv
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28. A large number of ships is called a ------------- of ships.

a) dock b) port c) fleet d) crew

29. We stopped  there a little. The word  'stopped'  here  is :

a) transitive verb b) intransitive verb c) adverb d) adjective

30. Tomorrow  ………………. Sunday.

a) Is b) Will be c) Was d) May

31. ………………. Believe in the caste system

a) Hindus b) The Hindus c) All Hindu d) Some Hindu

32. We ourselves served the guests. In this sentence 'ourselves' is  ;

a) reflexive pronoun     b) demonstrative pronoun. c) distributive pronoun d) emphasizing pronoun.

33. To the question , "Don't you like tea ?"   there are two correct answers  below. Find them.
i) Yes. I don't like tea. ii) No, I like tea. iii) Yes, I like tea. iv) No, I do not like tea.

a) i & ii b) ii & iii c) i & iii d) iii & iv

34. "Please  tell  me  a  tale  about a  tall  tail." In this sentence :

a) 'tell' is noun, 'tale' is verb and 'tall' is adverb. b) 'tell' is verb, 'tale' is noun and 'tall' is adjective.
c) 'tell' is adverb , 'tale' is noun and 'tall' is adjective d) 'tell' is verb , 'tale' is adjective and 'tall' is noun.

35. select the correct sentence.

a) Each of the girls was given a rose. b) Each of the girl was given a rose.
c) Each of the girls were given roses. d) Each girls were given roses.

36. Select the correct sentence.

a) who are you speaking to ? b) whom are you speaking to ?
c) who is you speaking to ? d) whom  is you speaking ?

37. Fill the bottle  ----------- hot water.

a) in b) by c) with d) of

38. He is negligent -------------- his work.

a) to b) at c) in d) of

39. Hardly had we reached school ---------------- the bell rang.

a) than b) when c) then d) for
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40. Work hard ----------------- you should fail.

a) because b) although c) or d) lest

41. Mr. Saikia has three -----------------.

a) son-in-laws b) sons-in-law c) sons-in-laws d) son inlaws.

42 Pick up the correct sentence :

a) The cattle are grazing in the field. b) The cattle is grazing in the field.
c) The cattles are grazing in the field. d) The cattles is grazing in the field.

43. Pick up the correct sentence :

a) I and you and he can never get on well together. b) You and I and he can never get on well together.
c) You and he and I can never get on well together. d) I and he and you  can never get on well together.

44. The given sentence in Direct Narration has four choices in Indirect  Narration. Choose the correct one.
He said, " I must go now".

a) He said that he must go then. b) He said that he had to go then.
c) He said he must go now. d) He said that he had to go now.

45. A  Red Indian's  ( native American) home is called -----------------.

a) igloo b) hutches c) cottage d) wigwam

46. The Latin phrase 'inter alia' means --------------------- in English.

a) in the middle b) in between c) among other things d) in the whole

47. There are black sheep in every community. " black sheep' means :

a) sheep of black colour b) sheep that has lost its wool.
c) bad character d) talented persons.

48. There are people who do not get a square meal a day. 'square meal' means :

a) for times a normal meal. b) a meal for four persons.
c) a full meal d) a meal in a five star hotel.

49. 'Morning' is to 'Noon' as 'Youth' is to :

a) Energy b) Childhood c) Love d) Old age

50. 'Nainital'  is to Hills as Jaisalmer is to :

a) Fort b) Border c) Desert d) Security
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General Mathematics / açWýç»S G×STö / açWýçÌ[ýS G×STö

51. Roman numeral for the smallest four digit number is .............
$Jôç×»Oôç %eEõ ×[ý×`rô %çOôç+TöêEõ a»Ó aeFîç [ýÇãLç¾ç å»ç]çX aeFîçäOôç ............
»Jôç×Ì[ý %eEõ×[ý×`rô a[ý»Jôç+ãTö æ»K÷çOô aeFîç [ýÇMõçãXç åÌ[ýç]çX  aeFîç×Oô ×Eõ ?

a) X b) M c) C d) D

52. If 'x' and 'y' are whole numbers, then x - y is .........
^×V 'x' %ç»Ó 'y' %F‰ø aeFîç c÷Ì̂ , åTöãX x - y ............
^×V 'x' A[ýe 'y' %F‰ø aeFîç c÷Ì̂ , Töã[ý x - y ............

a) A whole number b) A natural number c) Can not be determined d) None of these
AOôç %F‰ø aeFîç AOôç Ø‘öç\öç×¾Eõ aeFîç ×XSïÌ̂  Eõ×»[ý åXç¾ç×» AOôçC Xc÷Ì^
AEõ×Oô %F‰ø aeFîç AEõ×Oô Ø‘öç\öç×[ýEõ aeFîç ×XSïÌ̂  Eõ×Ì[ýãTö YçÌ[ýç ̂ çÌ^Xç AEõ×OôC Xç

53. The largest 3 digit number divisible by 19 is ...............
×Tö×XOôç %eEõã» G×PöTö %ç»Ó 19 å» ×[ý\öçLî %çOôç+TöêEõ QöçIø» aeFîçäOôç ...........
19 ¥çÌ[ýç ×[ý\öçLî ×TöX %eãEõÌ[ý a[ý»Jôç+ãTö [ýQÍö aeFîç×Oô -

a) 988 b) 998 c) 999 d) 969

54. A prime number is .................
å]ì×_Eõ aeFîç éc÷ä$K÷ ..................
AEõ×Oô å]ì×_Eõ aeFîç ................

a) An even number b) An odd number c) Composite number d) None of these
AOôç ̂ ÇG½ aeFîç AOôç %^ÇG½ aeFîç å^ì×GEõ aeFîç AOôçC Xc÷Ì^
AEõ×Oô ̂ ÇG½ aeFîç AEõ×Oô % Ç̂G½ aeFîç å^ì×GEõ aeFîç åEõçXOôç+ XÌ̂

55. The number 3,116,365 is divisible by ..................
3,116,365 aeFîçäOôç .................. å» ×[ý\öçLî
3,116,365 aeFîç×Oô ................ ¥çÌ[ýç ×[ý\öçLî

a) 5 b) 7 c) Both 5 & 7 d) None of these
5 %ç»Ó 7 AOôçC Xc÷Ì^
5 A[ýe 7 AEõ×OôC XÌ^

56. A line segment joining the centre and any point on the circle is called .......
[ýÊwø» ×^ãEõçãXç AOôç ×[ý³VÇ %ç»Ó åEõ³VÐ aeã^çGÝ å»Fç Qöç_Eõ åEõç¾ç c÷Ì̂  ............
[ýÊãwøÌ[ý AEõ×Oô ×[ý³VÇ A[ýe åEõ³VÐ aeã^çGÝ åÌ[ýFçãEõ ............... [ý_ç c÷Ì̂

a) Chord b) Radius c) Arc d) Diameter
Lîç [ýîçaçWýï $JôçY [ýîça
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57. Number of line segments possible with three collinear points is ...........
×Tö×XOôç AãEõ å»FÝÌ̂  ×[ý³VÇ aeã^çG Eõ×»ã_ ............. Oôç å»FçF‰ø Yç[ý Yç×»*
×TöXOôç a]ãÌ[ýFÝÌ̂  ×[ý³VÇ ac÷ã^çG c÷+ã_ ............... Oôç åÌ[ýFçF³Qö Yç+ãTö Yç×Ì[ý*

a) 1 b) 2 c) 3 d) Infinite (%aeFî)

58. 910 is an example of .................
910 ................. åEõçX» =Vçc÷»S*
910................ åEõçãSÌ[ý =Vçc÷Ì[ýS*

a) Obtuse b) Acute c) Right d) None
ØšöÉ_ aÉ©¿ a] AOôçC Xc÷Ì̂ / AEõ×OôC Xç

59. Which of the following figure has six faces ?
Tö_Tö ×VÌ̂ ç åEõçXäOôç ×$Jôy» $K÷Oôç ×Y×Pö %çä$K÷ ?
XÝä»JôÌ[ý åEõçX ×»Jôäy »K÷Ì̂ Oôç ×YPö %çä»K÷ ?

a) b) c) d)

60. Reciprocal of 2 is ...............
2» %ãXîç~Eõ .......................
2AÌ[ý %ãXçSîEõ ....................

a) 7
3

b) - 7
3

c) - 3
7

d) 3
7

61. Smallest negative number ............
%çOôç+TöêEõ a»Ó @Sç±ÁEõ aeFîç.....................
a[ý»Jôç+ãTö æ»K÷çOô @Sç±ÁEõ aeFîç .....................

a) -1 b) -10 c) 0 d) Does not exist / Xç+

62. 3 1
12

 - [1+ +{2-(1 - )}]

a)  b) 2 c) 1 d) 0

63. 58 + 3
100

 + 7
1000

= ....................

a) 58.0037 b) 58.37 c) 58.037 d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

64. The length of a rectangle is 6
5
th of its breadth. If its perimeter is 132m, its area will be ...................

AOôç %çÌ̂ Tö ålùy» VÝH YÒØšö» 6
5
 %e` %ç»Ó Y×»aÝ]ç 132 ×]Oôç» c÷ã_ %çÌ̂ TöãlùyäOôç» Eõç×_ ..............

AEõ×Oô %çÌ̂ TöãlùäyÌ[ý éVHïî YÒãØšöÌ[ý 6
5
 %e`* ̂ ×V Y×Ì[ýaÝ]ç 132 ×]f c÷Ì̂  Töã[ý %çÌ̂ TöãlùyÌ[ý Eõç×_ ?

a) 1080 m2 (×]2) b) 640m2 (×]2) c) 1620 m2 (×]2) C d) 2160m2 (×]2)
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65. Number of variables in a simple linear equation ...............

a»_ é»×FEõ a×]Eõ»STö $Jô_Eõ» aeFîç ....................
aÌ[ý_ éÌ[ý×FEõ a]ÝEõÌ[ýãS »Jô_ãEõÌ[ý aeFîç .....................

a) Two b) One c) 0 d) None of these
VÇOôç AOôç AOôçC Xc÷Ì^
VÇ+Oôç AEõOôç AEõ×OôC XÌ^

66. In P - 2= 3, the value of P is .........
P - 2= 3Tö P » ]çX .......................

P - 2= 3åTö P AÌ[ý ]çX ......................

a) -9 b) +6 c) +9 d) 0

67 The ratio of the least prime number to the least composite number is .................
%çOôç+TöêEõ a»Ó å]ì×_Eõ aeFîç %ç»Ó %çOôç+TöêEõ a»Ó å^ì×GEõ aeFîç» %XÇYçTö ............
a[ý»Jôç+ãTö æ»K÷çOô å]ì×_Eõ A[ýe å^ì×GEõ aeFîç¥ãÌ̂ Ì[ý %XÇYçTö ..............

a) 1 : 2 b) 2 : 3 c) 1 : 4 d) 1 : 3

68. A quadrilateral is a rectangle but not a square when ...................
AOôç $JôTÇö\ÉöÛL %çÌ̂ Töãlùy c÷Ì̂  ×EõÜ™Çö [ýGïãlùy Xc÷Ì̂  å^×TöÌ̂ ç .........................
AEõ×Oô JôTÇö\ÉöÛL %çÌ̂ Töãlùy c÷Ì̂  ×EõÜ™Çö [ýGïãlùy c÷Ì̂ Xç ̂ ×V ...........................

a) Its diagonals do not bisect each other b) Its diagonals are not perpendicular
+Ì̂ ç» EõSï+ Y»&ã» Y»•õ»Eõ a]×¥F×‰øTö XEõã»* +Ì̂ ç» EõSïã[ýç» Y»&» _¶‘ö Xc÷Ì̂
+c÷çÌ[ý EõSïm×_ YÌ[ý&Ì[ýãEõ a]×¥F×‰øTö EõãÌ[ý Xç +c÷çÌ[ý EõSïm×_ YÌ[ý&Ì[ý _¶‘ö XÌ̂

c) All angles are not equal d) Its diagonals are not equal
%çOôç+ãEõ+Oôç åEõçX ]çX Xc÷Ì̂ +Ì̂ ç» EõSïã[ýç» a]çX Xc÷Ì̂
a[ým×_ åEõçS a]çX XÌ̂ +c÷çÌ[ý EõSïm×_ a]çX XÌ̂

69. Circumference of a circle is approximately equal to ........... time diameter.
[ýÊwø» Y×»aÝ]ç +Ì̂ ç» [ýîça» YÒçÌ̂  ................ mS
[ýÊãwøÌ[ý Y×Ì[ýaÝ]ç +c÷çÌ[ý [ýîçãaÌ[ý YÒçÌ̂  ............. mX

a) 4 b) 6 c) 3 d) 5

70. The measure of AOB in the following figure is ...............
Tö_Tö ×VÌ̂ ç ×$JôyTö AOB » ]çY ..........
XÝä»Jô åVCÌ̂ ç ×»Jôäy AOB AÌ[ý ]çY .........

a) 900

b) 440

c) 2240

d) 1340

)

B A

O
C

134
0

90
0

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(11)

71. 5
8

 - 2
8

 = ................

a) b) c) d)

72. 15
45

 = ?
9

a) 15 b) 9 c) 5 d) 3

73. The sum of two numbers is 31.021. If one of them is 11.56, then the other number is ................
VÇOôç aeFîç» å^çGZõ_ 31.021 Töçã» AOôç aeFîç 11.56 c÷ã_ %çXäOôç aeFîç c÷'[ý ...................
VÇ+×Oô aeFîçÌ[ý å^çGZõ_ 31.021* ̂ ×V AEõ×Oô aeFîç 11.56 c÷Ì̂  Töã[ý %YÌ[ý×Oô c÷+ã[ý .................

a) 19.461 b) 17.461 c) 18.641 d) 19.561

74. The ratio of 0.12 kg and 180 g is ...............
0.12 ×EõfGÐçf %ç»Ó 180 GÐç]» %XÇYçTö ...................
0.12 ×EõfGÐçf A[ýe 180 GÐçã]Ì[ý %XÇYçTö .....................

a) 0.01:1.8 b) 1:5 c) 2:3 d) none
AOôçC Xc÷Ì^/AEõ×OôC XÌ^

75. A play ground which is 250 m long and 20 m broad is to be fenced with wire. How much wire is needed ?
250 ×]Oôç» VÝH_ %ç»Ó 20 ×]Oôç» [ýc÷_ åF_ YUç» AFX» $Jôç×»CZõçã_ Töçä»ä» å[ý» ×VCgãTö ×Eõ]çX Töç» _ç×G[ý ?
250 ×]f éVãHïîÌ[ý A[ýe 20 ×]OôçÌ[ý YÒãØšöÌ[ý AEõ×Oô åF_çÌ[ý ]çäPöÌ[ý »Jôç×Ì[ý×VãEõ TöçãÌ[ýÌ[ý å[ýQÍöç ×Vã_ EõTöOÇôEÇõ TöçÌ[ý _ç×Gã[ý ?
a) 270 m (×]f) b) 230 m (×]f) c) 540 m (×]f) d) None AOôçC Xc÷Ì^/AEõ×OôC XÌ^

General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýS ×[ýpûçX

76. Which of the following has the highest potential energy ?
Tö_» åEõçXäOôç» ×Øšö×Tö ̀ ×Nþ %çOôç+TöêEõ å[ý×$K÷ ?
XÝä»JôÌ[ý åEõçX×OôÌ[ý ×Øšö×Tö`×Nþ a[ý»Jôç+ãTö å[ý`Ý

a) 10 kg stone at a height of 20 m b) 100 kg stone at a height of 2 m
20 ×]Oôç» =¬JôTöçTö UEõç 10 ×Eõf GÐç] CLX» ×`_»ô 2 ×]Oôç» =¬JôTöçTö UEõç 100 ×Eõf GÐç] CLX» ×`_»
20 ×]OôçÌ[ý =¬JôTöçÌ̂  UçEõç 10 ×EõfGÐçf CLãXÌ[ý YçUãÌ[ýÌ[ý 2 ×]OôçÌ[ý =¬JôTöçÌ̂  UçEõç 100 ×EõfGÐçf CLãXÌ[ý YçUãÌ[ýÌ[ý

c) 40 kg stone at a height of 5 m d) 30 kg stone at a height of 7 m
5 ×]Oôç» =¬JôTöçTö UEõç 40 ×Eõf GÐç] CLX» ×`_»ô 7 ×]Oôç» =¬JôTöçTö UEõç 30 ×Eõf GÐç] CLX» ×`_»
5 ×]OôçÌ[ý =¬JôTöçÌ̂  UçEõç 40 ×EõfGÐçf CLãXÌ[ý YçUãÌ[ýÌ[ý 7 ×]OôçÌ[ý =¬JôTöçÌ̂  UçEõç 30 ×EõfGÐçf CLãXÌ[ý YçUãÌ[ýÌ[ý

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(12)

77. The energy stored in food is ..............
FçVîTö ............... ̀ ×Nþ ×X×c÷Tö éc÷ UçãEõ*
FçãVî ................ ̀ ×Nþ ×X×c÷Tö c÷+Ì̂ ç UçãEõ*

a) electrical b) heat c) chemical d) muscular
é[ýVÇî×TöEõ TöçY »çaçÌ^×XEõ/Ì[ýçaçÌ^×XEõ åY`Ý

78. Which of the following is a third order lever ?
Tö_» åEõçXäOôç TÊöTöÝÌ̂  æ`ÒSÝ» ×_\öç» ?
XÝä»JôÌ[ý åEõçX×Oô TÊöTöÝÌ̂  æ`ÒSÝÌ[ý ×_\öçÌ[ý ?

a) Growbar b) Scissors c) Tongs. d) All of these
×JôY»çe åEõ×Jô æJôãYXç %çOôç+ãEõ+Oôç
`ç[ý_ Eõç×»Jô agçQÍöç×_ a[ýEõÌ^×Oô

79. Which of the following statement is true ?
Tö_» åEõçXäOôç =×Nþ aTöî ?
XÝä»JôÌ[ý åEõçX =×Nþ×Oô aTöî ?

a) Electricity can be created b) Electricity flows is a circuit with gaps.
×[ýVÇîTö ̀ ×Nþ aÊ×rô Eõ×»[ý Yç×» %a¶YÉSï [ýTöÛSÝTö ×[ýVÇîd YÒ¾ç×c÷Tö c÷Ì̂ *
×[ýVÇîTö ̀ ×Nþ aÊ×rô Eõ×Ì[ýãTö Yç×Ì[ý %a¶YÉSï [ýTöÛXÝãTö ×[ýVÇîd YÒ¾ç×c÷Tö c÷Ì̂ *

c) Electricity is the flow of negative charge. d) All of the above
×[ýVÇîd éc÷ä$K÷ @Sç±ÁEõ %çWýçX» YÒ¾çc÷ CY»» %çOôç+ãEõ+Oôç
×[ýVÇîd c÷+_ @Sç±ÁEõ %çWýçãXÌ[ý YÒ[ýçc÷ a[ýEõÌ^Oôç

80. The instrument that can measure current is called a/an ................
×[ýVÇî YÒ¾çc÷ åLçFç ^Ü—öäOôç» Xç] .......................
×[ýVÇîd YÒ[ýçc÷ ]çYç ^Ü—ö×OôÌ[ý Xç] ..........................

a) Tester b) Resistor c) Voltameter d) Ammeter
æOôrôç» å»çWýEõ \ö·Oô×]Oôç» A×]Oô$ç»
æOôrôçÌ[ý åÌ[ýçWýEõ \ö·Oô×]OôçÌ[ý A×]OôçÌ[ý

81. Erg is a unit for ................
................... » AEõEõ %çGï*
%çGï c÷+_ ................ AEõEõ*

a) energy b) work c) force d) both a & b
`×Nþ Eõç^ïî [ý_ a %ç»Ó b =\öÌ̂
`×NþÌ[ý Eõçã ï̂îÌ[ý [ýã_Ì[ý a A[ýe b =\öãÌ̂ Ì[ý
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82. By dropping a drop of water on a glowing electric bulb, it bursts. This is because glass is a ............   .
L�×_ UEõç é[ýVÇî×TöEõ [ýç_Ÿ AOôçTö YçXÝ AäOôçYç_ Y×»ã_ [ýç_ŸäOôç Zõç×Oô ̂ çÌ̂  Eõç»S Eõç$Jô .................
AEõ×Oô é[ýVÇî×TöEõ [ýçã_Ÿ AEõ åZgõçOôç L_ Y×Ì[ýã_ [ýç_Ÿ×Oô Zõç×OôÌ̂ ç ̂ çÌ̂ , EõçÌ[ýS Eõç»Jô ...................

a) good conductor of heat b) bad conductor of heat
TöçY» aÇY×»[ýçc÷Ý TöçY» EÇõY×»[ýçc÷Ý
TöçãYÌ[ý aÇY×Ì[ý[ýçc÷Ý TöçãYÌ[ý EÇõY×Ì[ý[ýçc÷Ý

c) transparent substance d) good conductor of electricity.
Ø‘ö¬Jô YVçUï ×[ýVÇîd» aÇY×»[ýçc÷Ý
Ø‘ö¬K÷ YVçUï ×[ýVÇîãTöÌ[ý aÇY×Ì[ý[ýçc÷Ý

83. Choose the most elastic substance from the following.
Tö_» åEõçXäOôç a[ýïç×WýEõ ×Øšö×TöØšöçYEõ YVçUï ?
a[ý»Jôç+ãTö å[ý`Ý ×Øšö×TöØšöçYEõ YVçUï×Oô c÷+_ -

a) Rubber b) Nylon c) Steel d) Iron
»[ý» Xç+_X TöÝFç å_ç
Ì[ýç[ýçÌ[ý Xç+_X +&çTö å_çc÷ç

84. Which radiation is used to purify water ?
åEõçXäOôç åTöL×•õ̃Ì̂  YÒ×yÔÌ̂ ç» ¥ç»ç YçXÝ Y×»ã`çWýX Eõ»ç c÷Ì̂  ?
XÝä»JôÌ[ý åEõçX åTöL×•˜õÌ̂  YÒ×yÔÌ̂ çÌ[ý ¥çÌ[ýç L_ãEõ Y×Ì[ýã`çWýX EõÌ[ýç c÷Ì̂  ?

a) Infrared radiation b) ultraviolet radiation c) X - rays d) Microwaves
%¾ã_ç×c÷Tö »×`½ %×Töã[ýIÇøXÝÌ̂ ç »×`½ Ajã» ]ç+yÔã¾[ý
%[ýã_ç×c÷Tö Ì[ý×`½ %×Töã[ýmXÝ Ì[ý×`½ AjãÌ[ý ]ç+yÔCãÌ^[ý

85. In our body, ................... act as catalysts.
%ç]ç» `»Ý»Tö ................ %XÇHOôEõ» Eõç] Eõã»*
.............. %ç]çãVÌ[ý ̀ Ì[ýÝãÌ[ý %XÇHOôãEõÌ[ý EõçL EõãÌ[ý*

a) Vitamins b) minerals c) enzymes d) water
×\öOôç×]ãX F×XL _¾ãS =dåa$JôãEõ YçXÝãÌ^
×\öOôç×]X F×XL_[ýX =dåa»JôEõ L_

86. Physical changes require ................. energy than chemical changes.
»çaçÌ̂ ×XEõ Y×»[ýwïøXTöêEõ å\öì×TöEõ Y×»[ýwïøX» ålùyTö ................. ̀ ×Nþ» YÒãÌ^çLX c÷Ì̂ *
Ì[ýçaçÌ̂ ×XEõ Y×Ì[ý[ýTöÛãXÌ[ý TÇö_XçÌ̂  å\öì×TöEõ Y×Ì[ý[ýTöÛãX ................ ̀ ×NþÌ[ý YÒãÌ^çLX*

a) less b) more c) equal amount d) very high amount of
Eõ] å[ý×$K÷ a] Y×»]çS» %×WýEõ Y×»]çX»
Eõ] å[ý`Ý a]Y×Ì[ý]çX %ãXEõ å[ý`Ý Y×Ì[ý]çX
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87. Saline water is useful for ...............

æ$Jô_ç+X ....................... » [ýçã[ý [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
åa_ç+X ................. [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *

a) washing clothes b) drinking c) for agriculture d) none of these
EõçãYç» åWýç¾ç åFç¾ç YçXÝ EÊõ×b AOôçC Xc÷Ì^
EõçYQÍö åWýçÌ̂ çãTö YçãXÌ[ý LXî EÊõ×bEõçã^ï AEõ×OôC XÌ^

88. The density of water is maximum at .............
................ Tö YçXÝ» HX±¼ö %çOôç+TöêEõ å[ý×$K÷*
................... åTö Lã_Ì[ý HX±¼ö a[ý»Jôç+ãTö å[ý`Ý*

a) 00C b) 40C c) 400C d) 1000C

89. Which of the following is combustible ?
Tö_» åEõçXäOôç L�_X`Ý_
ÌXÝä»JôÌ[ý åEõçX×Oô L�_X`Ý_

a) Oxygen b) Carbon dioxide c) Hydrogen d) All of these
%×jãLX Eõç[ýïX Qöç+-%jç+Qö c÷ç+QÎö'åLX %çOôç+ åEõ+Oôç/a[ýEõÌ̂ Oôç

90. The fruits of this plant are used as spices in food. Name the plant.
A×[ýWý G$K÷» Zõ_ FçVîTö ]$K÷_ç ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂ * G$K÷ ×[ýWý» Xç] .................
å^ Gçä»K÷Ì[ý Zõ_ãEõ FçãVîÌ[ý ]`_ç ×c÷açã[ý [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ , åa Gç»K÷×Oô c÷+_ ...............

a) Brinjal b) Chilly c) Onion d) Ginger
å[ýãIøXç L_EõÝÌ̂ ç ×YÌ^çL %çVç
å[ýmX ]×Ì[ý»Jô ×YÌ^çL %çVç

91. Which of the following vitamins is required in healing of wounds ?
Hç £Eõç[ýê_ åEõçXäOôç ×\öOôç×]X» YÒãÌ̂ çLX ?
`Ì[ýÝãÌ[ýÌ[ý Hgç £EõçãXçÌ[ý LXî åEõçX ×\öOôç×]ãXÌ[ý YÒãÌ^çLX ?

a) Vitamin A b) Vitamin B c) Vitamin C d) Vitamin D
×\öOôç×]X A ×\öOôç×]X B ×\öOôç×]X C ×\öOôç×]X D

92. What materials were used as clothes in ancient times ?
YÒç$JôÝX Eõç_Tö ×Eõc÷Eõ [ýºy ×c÷$JôçãY [ýî¾c÷ç» éc÷×$K÷_ ?
YÒçJôÝX Eõçã_ XÝä»JôÌ[ý åEõçX×Oô [ýØ—ö ×c÷açã[ý [ýî[ýc÷çÌ[ý EõÌ[ýç c÷+Ì̂ ç×»K÷_ ?

a) Animal skins b) Grass c) Vines d) All of these
L³wø» $K÷ç_ Hgçc÷ _Töç %çOôç+ åEõ+Oôç
L³wøÌ[ý »Jôç]QÍöç Hça _Töç a[ýEõÌ^Oôç
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93. Plant that reserves its food in its root system is .............
åEõçXäOôç =×àöãV ]É_-TöÜ—öTö FçVî a‡ûÌ̂  Eõ×» »çãF ?
åEõçX =×àöãVÌ[ý FçVî Töçc÷çÌ[ý ]É_TöãÜ—ö a‡ûÌ̂  c÷+Ì̂ ç UçãEõ ?

a) brinjal b) bean c) carrot d) sugar cane
å[ýãIøXç ]çc÷ GçL» EÇõ×c÷Ì̂ ç»
å[ýmX [ýÌ[ý[ý×Oô GçLÌ[ý +lÇù

94. Which of the following has simple leaves ?
Tö_» åEõçX×[ýWý =×àöVTö a»_ Yy åYç¾ç ̂ çÌ̂  ?
XÝæ»JôÌ[ý åEõçX Gçä»K÷Ì[ý YçTöç aÌ[ý_ ?

a) Mango b) Rose c) Gram d) Neem
%ç] åGç_çY [ýÇOô]çc÷ ×X]
%ç] åGç_çY æ»K÷ç_ç ×X]

95. Which of the following manufacture food and supply it to other floral parts ?
Tö_» åEõçXäOôçã¾ FçVî YÒºwøTö Eõ×» ZÇõ_» ×[ý×\ö~  %e`ê_ å^çGçX Wýã» ?
XÝä»JôÌ[ý åEõçX×Oô FçVî YÒºwøTö EõãÌ[ý A[ýe ZÇõã_Ì[ý ×[ý×\ö~ %eã` aÌ[ý[ýçÌ[ýc÷ EõãÌ[ý ?

a) Sepals b) Petals c) Anther d) Stigma
[ýÊ×Tö Yç×c÷/ YçY×QÍö Y»çGWýçSÝ/ YçÌ[ýGWýçXÝ G\öÛ]Ç‰ø
ø

96. Which of the following statements is not true ?
Tö_» åEõçXäOôç =×Nþ aTöî Xc÷Ì̂  ?
XÝäJôÌ[ý åEõçX =×Nþ aTöî XÌ̂  -

a) The cartilage is not as hard as bones b) A snake moves by making loops
=Yç×Øšö, %×Øšö» Vã» Eõ×PöX Xc÷Ì̂ açãY AEõç-ã[ýEõç éEõ $Jô_ç$Jô_ Eõã»
=Yç×Øšö %×ØšöÌ[ý ]Tö Eõ×PöX XÌ̂ açY %çEõç[ýgçEõç \öçã[ý Jô_çJô_ Eõã»Ì[»

c) All animals show exactly similar movements d) Snails move with the help of their muscular feet
aEõã_ç YÒçXÝ»  $Jô_X» açVỀ î %çä$K÷ `ç]ÇãEõ åY`Ý^ÇNþ YV» ¥ç»ç $Jô_ç$Jô_ Eõã»
aEõ_ YÒçXÝÌ[ý Jô_ãX açVỀ î %çäK÷ `ç]ÇEõ åY`Ý^ÇNþ Yç ¥ç»Ì[ýç Jô_çJô_ Eõ»ã»Ì[»

97. Find the statement that is not true for plastics.
åEõçXäOôç =×Nþ YÀç×rôEõ» ålùyTö aTöî Xc÷Ì̂  ?
YÀç×rôãEõÌ[ý ålùäy XÝä»JôÌ[ý åEõçX =×Nþ aTöî XÌ̂  ?

a) Plastics are used in most of the articles. b) Plastics are light and attractive
YÒçÌ̂  aç]GÐÝTö YÀç×rôEõ [ýî¾c÷ç» c÷Ì̂ YÀç×rôEõ YçTö_ %ç»Ó %çEõbïSÝÌ̂
ã[ý`ÝÌ[ý\öçG aç]GÐÝãTö YÀç×rôEõ [ýî[ýc÷çÌ[ý c÷Ì̂ YÀç×rôEõ c÷ç_Eõç A[ýe %çEõbïXÝÌ̂

c) Plastics can be burnt to dispose the waste d) All of these
YÀç×rôEõ» [ýLÛî YVçUï Vc÷X Eõ×» ×X]Çï_ Eõ×»[ý Yç×» %çOôç+ åEõ+Oôç
YÀç×rôãEõ»Ì[ý [ýLÛ YVçUï Vc÷X ¥çÌ[ýç ×X]Éï_ Eõ×Ì[ýãTö YçÌ[ýç ̂ çÌ̂ a[ýEõÌ^Oôç
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98. Nicotine present in cigarettes and beedies stimulate the ...............
×$JôGçã»Oô %ç»Ó ×[ýQÍöÝTö UEõç ×XEõ'×OôãX ............. Eõ =ãwø×LTö Eõã»*
×aGçãÌ[ýOô A[ýe ×[ý×QÍöãTö UçEõç ×XEõ'×OôX ................. åEõ =ãwø×LTö EõãÌ[ý*

a) respiratory system b) productive system c) nervous system d) blood circulatory system
`ŸaX TöÜ—ö LXX TöÜ—ö ØoöçÌ̂ Ç TöÜ—ö »Nþ a‡ûç_X TöÜ—ö / Ì[ýNþ a‡ûç_X TöÜ—ö

99. An example of monocot plant ..............
........... AEõ [ýÝL YyÝ =×àöV» AOôç =Vçc÷»S*
............... AEõ [ýÝL YyÝ =×àöV*

a) coconut b) almond c) sun flower d) mango
Xç×»Eõ_ / Xç×Ì[ýãEõ_ [ýçVç] aÉ»Ó^]ÉFÝ / aÉ^ïî]ÇFÝ %ç]

100.The energy releasing process in living organism is ..............
LÝ¾+ ............... » ¥ç»ç `×Nþ ×XGïTö Eõã»*
LÝ[ý .................. ¥çÌ[ý»ç `×Nþ ×XGïTö Eõã»Ì[ý

a) reflex action b) respiration c) blood circulation d) reproduction
YÒ×TöY ×yÔÌ̂ ç Ÿ̀aX »Nþ a‡ûç_X / Ì[ý»Nþ a‡ûç_X YÒLXX

XXX THE END XXX
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